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| Semester B.Com. Examination, Nov./Dec. 2014
(Freshers) (CBCS) (2014-15 and Onwards)
LANGUAGE SANSKRIT - |
Yakshaprashna Sangraha, Grammar and Comprehension

Time : 3 Hours Max. Marks : 70

Instructions : 1) Answer in Sanskrit, Kannadaor English.
2) Answer questions I, V and VI in Sanskrit only.

|. T I g | (10x1=10)
FOSRT YUZTRR), SO LTUD.
Select the correct answer.

1) TETHRAR hdl &: ?

) =T 3) aTeHif: §) TUTGe: 3) HIfcTeTa:
2) HETHRd shid Yelieht: afd ?

37) 6800 3T) 8800 3) 24000 ) 100000
3) STemHq Ffafsat: Juwa: e Ifvaar ?

3) I 3) T 3) fimE %) e
4) TAH_ 9G35 : faetam ?

a1) Fufe: am) sfi: 3) I 3) T
5) o 3T 9 TRy 2

3) HT: a) feu: 3) TS DRICE
6) o AR syafa 2

) o 3) e 3) 4 3) gfema
7) h: gfogd: 39: ?

3) ey 31 ifeash: HIERIETUF 3) T

P.T.O.
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1) ofimae ) ST 3) T %) "ead
9) fauar =X forq 2
37) a9 am) &S 3) M 3) I
10) W1 3= fohy 2
) HT a1) forem 3) gTa 3) S
1. gar: T 3T fored | (2x10=20)
QT @s‘lﬁ@ﬁ SUZOR.
Answer any two questions.
1) HETYRAE -1t |
SOTIITEE 82 7~ T
Authorship and date of Mahabharata.
2) giafsswe faem: |
CRVQXTT D,
Lamentations of Yudhisthira.
3) AF-JFfCSWN: TR Tl foed |
ofog\— o&m@&%d 2abnje] @’é\@tegdﬁ%g{ Rlergle N elovelel
Write about the questions and answers ensured between Yaksha and
Yudhisthira.

|Il. FETOT YARRHT 371G heal TG | (3x4=12)
SORT RGN LRTOR DT[OR.

Translate and explain any three slokas.

1) IR ST T HiTeesiar 48 FHEfed |
TIST gawt Ara: e Rsoerere: ||

2) IO I AT o1 Tel a1 TN |
TSI ol M qal Adesd g1 Fad ||

3) foh TRV Saca hva o |aTid |
FHIYT A e fRAmHEane ||
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VI.

4) I3 SATCHT A= W sdehd: 6 |
3USHeH & S SHHS YURI0M ||
5) Tl fashsTeTTehTsT = ST faw |

TG FRIVT: HIct: e a1 I T4 ||

. ga: IRl gaeey faguE | (2x4=8)

QT TENTTO DO AT O

Explain with reference to contextany two sentences.
1) I} A<t ST Uferat ARl |

2) TEHM= qAIT-IETd & I |

3) HH: e arard, e sgad |

4) sy o 3 s <9 TNy |

. AERANTEAT SW o |

RoR, Bt YUZOR.

Answer in Sanskrit.

1) gl forg-faufaq-a=aiia foraa | (5%1=5)
1) i 2) @ 3)H 4) 9Ta:
5) 9t 6) TR 7) 9T 8) STart

2) USEMT ARR-TET-FeHTH @ | (5%1=5)
1) fua 2) 39 3) STRUM 4) ST
5) fassfa 6) J=3TH 7) Sftaq 8) =fersaTy

30 T=ae gfdean I, 3Tt forad | (5x2=10)
ANV FEAERT AT e I ST | TohaT |: T s ArEliq | ot afeer e
T IIE TSI Tes JTE0l TaY: SfFedt ad | Jgeft gHi 3Meh: fasmata =)
M U & T IS | A o 7 S | fohmel 353 7 Jenf s ST A
FUM = | IR o, T Fdca e 01 91e 3% | TGN IS ST foh o

T SN 2 : GIHIER Tesq | G81 ISHH: JRAfd TR Teed 31 |

AT

1) HIGR: F ATEHI ?




